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=) UPCOMING ONLINE BATCHES

02 NOV 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

02 NOV 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

November 2022

09 NOV 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

BILINGUAL

\} NOV 2022

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

-ssyoN LINE LIVE CLASS

BILINGUAL

j3 NOV 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

23 NOV 2022

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

30 NOV 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org ¢ Q 705247777/7052577777
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H/w Q. Transformer is a device to convert —
ST R e e e 2

S.S.C. AT HTaeh T (T-1) 3

(a) D.C. to A.C./ST.8Y. I TH.

Ya
l/ \S)) (b) Low voltage D.C. into high voltage D.C. /
— - HH eSSt Sf |, hl 3= dicesT eIl °

DW —— :
//\/ -é(c) Low voltage A. C. into high voltage A .C./

—_— V .
FH dlees U, Y, hl 3= dieest THT °

R ———

(d) Mechanical energy into Electrical energy/
e c_N O N
{1k St ohl foreld sl §

—_
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1=
@ SRl T o [T hid
9L Teh oE[d Hihe BIdl © S 198 GN
& d) >|ce4|o|<1| G AT ST hid
i

/.

Z]HW}FTWWMOMI W(Qﬁ)%ﬂa

(Qliﬁ)ﬁq @fid LT 2l ST AT SN

! forgrd w1l § el a

Transformers are used to step up and step
down the alternating current (AC)
potential. An inverter 1s an electrical
circuit that converts direct current (DC) to
alternating  current (AC). Dynamo
converts mechanical energy into electrical
energy.
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Q.1 A battery converts energy into electrical energy.
/ TH A el ol gd il § giafad st ol L
S.S.C. AT HTdeh & (T-1) 19 ,2@19 (UI- aTedT)

(a) Heat/dl™

(b) Mechanical/ i
-

~© Chemlcal/{li‘ll%
(d) Light/shmst

A
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* Th Sell g TEEH Hsil o forld et o
/ ST 19N (Electric Current) 6
EARS I S'Hﬁ%@?f AT (Electrolyte)%
T g0 GRSl o HIEAH § AT AT
SAFIHT oh HATGH-YEH FRT &RT 39~ Bl 2

® Electric current 1s obtained by the
conversion of chemical energy into
electrical energy by a battery. In this
current 1s generated by the exchange of
ions or electrons through the electrodes
using an electrolyte.
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Q.2 Wind turbines convert energy into mechanical power.

qaq-<ds

TNCEIER) Sl o] AT Tk # aiefdd wet el /(UL

S.S.C. HAATET H1aeh T (T-1) 13 S, 2019 ¢1- 1<)

o fKinte 1 7

(b) Nuclear /:ﬂﬁ?ﬁ'&{/

(¢) Chemical /ququh/

(d) Gravitational / TIWTJ/
\D\
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* Uo <Iah] g4I okl i o ATedd ¥ S SRt B
/ 31%13 AT U scASl T S gl Al ©, al
/ 36k I § ¥ T iRt U H HUH 3ca
o o B 0 Yeh Bl shi TIiciST St Fiforsh
il T SEeT oI B

®* Wind mill works through the movement of
wind. When the wind hits the rotor blades
attached to 1t, they become dynamic due to

its force and generate rotation in the rotor.
Thus the kinetic energy of the air starts
converting into mechanical energy.
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Q.3 Coulomb per second 1s equivalent to :
/ HA™ Hiel Hohe o SIS Bl & L“-
S.S.C. 3T CGL (T-1) 24 , 2021 (¥ 9Tedl)

(a) Joule /S[c \
(b) Ohm /31
(¢) Volt/dee

%(d)[ A@
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)

o fogd g fohell IaY § TG JolTg sl ot

HNEECEIRIEE? FAM/HBS ARl

> —

® Electric current 1s the rate of flow of

s

charge 1 a circuit. Its unit 1s
coulomb/second.
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Q.4 The purest form of water in nature 1s

/ SThTdl H AT T He Y5, ®Y T 82 k/

S.S.C. AT HTaeh T’ (T-1) 3 T84 ,2016

<fﬂ;@

(b) Lake water / silcfl <hl vlcd

(c) River water / -Tal <Al SToi
— S

(d) Sea water / §Hx hl SIcT

__/_\
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® N1 T STeT Tehidl H Held I[g HHT SITelT @ SFAT Tl 1 Sehfcieh
/ |l (4, Yz, qTe, sﬂawa)ﬁmwa?rawﬁw‘w
STt T fereh 315 BIT 2, Fifh I8 >||oh|dohlaﬁ?ﬁ(=|3°r g 3ATM)
% ST AT § T ST 3 SO ¥ qoneaey a9
é:wﬁq&a%qrm%l@aaﬁwqﬁwaﬁﬁw%aﬁm

ot sTTfsat U |d § &1 1 Sl &)

* Ramnwater 1s considered to be purest in nature i.e. rain water

1s most pure as compared to water obtained from all known
natural sources (river, sea, pond, lake etc.) As a result of the
condensation of water vapor obtained from the evaporation
of water, it falls on the earth in the form of rain. During the
process of evaporation in such water, all the impurities
remain in the original source.
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Q.5 Atoms of which element combines with hydrogen to give water?
/ TorH T o TRATY] STEGISH o |1 [HeTeht ST ST & 2
S.S.C. M CGL (T-I) 18

Hag (a) Nitrogen / TTS2ISH

D E——

(b) Carbon/ CACE)

/ _ (C)l Oxygen / JATFEISH )

—— |
(d) Todine / AEH
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© SATFIS o UCHI, BIEGISH o WA §
\Y /) free S e B A BEEISH % 3
TUATOSAT U TS o Teh TATI] o §AIT &

HZD S O A (H20) a@rel

®* Oxygen atoms combine with hydrogen
atoms to form water. That 1s, a molecule of
water (H20) 1s formed by the combination
of two atoms of hydrogen and one atom of
oxygen.
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Q.6 When an ant bites, which acid 1s released?
T =l1e] sh1ed! 8, dl fohd 3Tve ohT FdTel et 82 (6
S.S.C. 3T HIdeh ™ (T-1) 31 2016/1- qreil)

(a) Hydrochloric acid/ 6|$§\| FANR T+

o — 2

ﬂ)) iormic acid/®iTHe® 0T ) I

(c) Acetic acid/THIIIHh 3Fat

(d) Phosphoric acid/®EhINE 3TFT
- —
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/ :ﬂﬁ?ﬁ\ﬂw S (HCOOH) +f

FTA ¢l T Ueh Ik AMh 2, SN YThicish €
Q7 @/ & et <fifeait, e, fore qom st % S
T 91T ST 2 ohls%ﬁﬁ(%ﬁﬁoh{ AT <iel) STe

< AR 2, @ ffel e 2 ot 21 I8 ST
Fifi 7T % FROT R ST

/ ¢ Formic acid, also known as methanoic acid
(HCOOH). It is an organic compound found

naturally in the stings of red ants, bees,
scorpions and barbs. When an ant (especially

a red ant) stings, there 1s a burning sensation.
This burning 1s due to formic acid only.
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Q.7 Bee sting contains
/W*S%ﬁdﬂl T

S.S.C. 3‘|I"|Q’1I$"I ETdeh Tl (T-I) 3

YRR oh Soh H 3Tl 19 aldd

WW@ / (a) An acidic liquid/ 3T
SATEEIEl — —

Bee sting contains an acidic (b) asalt solution/ MG Rl
liquid, which is made up of (c) an alkaline liquid / & q&eT
formic acid. (d) a corrosive liquid/ T&Teh A

T T
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Q.8 70% of energy needs should be met by
/ ST, SIELAl sht 70% ECUR RIS SIS
S.S.C. AT MTS (F-1) 10 3SR 2017 (I- dTedT)

(a) Amino acid/THIFT 3T/
(b) Fat/dd1l

(¢) Lipid/fcIfue
—7 «d) \Carbohm
\

___/
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m%ﬂ IS RIESE Tl o 7T Al
2P ] 70% STl 31|o|2qoh<1|?mprtlﬁwﬁ%l
g\/ ° Carbohydrates are the main source of energy

for the human body, meeting about 70% of

the energy requirement.
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Q.9 Name the enzyme in the human body, which helps 1n breaking down

/ carbohydrates.
e IR T 3T US3Y ohT ATH SIdT6, ST hITe13Se ohl die- H Hee il g

S.S.C. AT HTaeh T (T-1) 19 S, 2019 (M- dTedt)

4%

(a) Protease/ BIES] /

(b) Lipase fferar

—_—

(c) Peptidase RES]

— N
__Ad) Amylase/ THTISTS
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* H{= H U {ShAT o SN hislgsge o

|O|{9IS"| $hH OIlQ’lI k,W||$‘-| (Enzyme) U—II$Q’|°‘|
(Amylase) 2l

®* Amylase 1s the enzyme that breaks down
carbohydrates during digestion in humans.
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ich of the following 1s caused by a virus named '"Varicella Zoster’?

/ e fetiad ¥ 9 =7 90U AT ST AT I o shI0T 21dT / 2idl

S.S.C. AT S ek & (T-1) 7

(2) Polio / Aiferal

/
/ o ~
___(b) Chickenpox / Teleh-TqTd
ies / &S]

hi
(c)Rab
(d) Cholera / &

————
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o AT ST IRRG (VZV) ITHT BUE I IR
/ (a -Herpes virus family) T Gelad &, oTeeh HehA o
@L FIeh-dieg U7 Bl ®, S&lh ==k (Small Pox) T
éﬁaﬂcfn I o HshAYT H Bl 3T FTHST HoRAT ohtr%llcl
TE I wmol{-?ﬂﬁ <A ST %Wﬁaﬁﬁ%ld TS
\_rﬁ"vET(Herpes zoster) ATA &9 H T |oh 81T 8

° Var1cella zoster virus (VZV) belongs to the alpha-
Herpes virus family, the infection of which causes
chickenpox disease, while small pox disease 1s caused
by infection with Variola virus. After the 1nitial
infection, the virus goes dormant and reactivates
several years later as the herpes zoster virus.
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Q.11 Pneumonia 1s a bacterial disease caused by the type of bacteria called

/ SHIF-ET ST =T T o7 Sher 29 76

S.S.C. AT HTaeh TG (T-1) 10 T8y, 2016 MAI1- ITet)

7

(a) Bacilli / Sf&feT

/@FZ@
(¢)* Sprilli/Reft

— N

(d) Vibrio/fafsmn

———\
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o Tyt (Pneumoma) e k,oh ﬁﬁ%l B

® / TR JHIHT ATHe TS Fihd
/ %us) TeITu] ST BIlT 21 sﬂaﬁﬁTﬁﬁa—s’
TR TER TR
=

neumonia 1s a disease of the lungs. This

disease 1s caused by a cocci or coccus
bacterium called Streptococcus
pneumoniae. In this, the patient gets fever
with chills.
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Q.12 Securities and Exchange Board of India 1s a :
/ T fEist Ug vageist e 31T% Sfear g 2 go(fk/
S.S.C. HHATEH HIdeh &’ (T-I) 30 16/111?4“[

(a) Qu331 Judicial Body/&ﬂ'l”ﬁ
WlSI R‘MQ"I SIEY
RINECIS]

p—

4(b) Regulatory Body/ i’ol QRARGIES
(c) “Advisory Body / ¥ATEHR SISt

(d) Constitutional Body / GaHTH drel
-~
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° gelt T Ndayren ger &, fSeeh T E o4
G o Uk Ui g0 12 319, 1988 Rl hl 118 off|

Wfﬁwmﬁ‘ﬂ%gm =0 TR

o T I L a1 wmﬁ?ﬂ AT l-|®|$ q =l
ﬁ@ﬁ IR TSR T =i I 8¢ RN ) |«|e4|>|c|
g e -
* SEBI is a non-constitutional body, established on
12 April 1988 by a resolution of the Central
Government. It was also given statutory status by
an ordinance on January 30, 1992. Its headquarter

1s in Mumbai. SEBI controls and regulates the vast

business running in the stock market.
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Q.13 Who among the following economists coined the terminology 'Hindu Rate of
Growth’?
e syt ® § b Tég e a0 wroararedt s g feam e /e
, go 16 i1 )

(a) Bimal Jalan / formet ST /
-

(b) Amiya Kumar Bagchi / AT U

S.S.C. AT HTaeh T’ (T-1) 31

g

e
~Z (¢) lRaj Krishna / TS 30T
ST s

(d) Vijay Kelkar / ToST sheteht
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* 'Hindu rate of growth' 98 WRAII AT T
SHSUTT <hT a1 ®, ST WA SAUAaedT (GDP) h

@Q/ 4 e o < @ gaifer off

* The term 'Hindu rate of growth' was coined by

the Indian economist Raj Krishna, which was
related to the lowest growth rate of the Indian
economy (GDP).



TARGET GS- 25/25

Q.14 Which of the following 1s an east flowing river?

FrefeTRad & 9 si-e 4ol fawT 5 e et 441 8 2 @Ojj\/
S.S.C. FAHATR T T (T-1) 6 7= 2020 (A]- Ut
//L

(a) Sharavati / IREAT

(b) Sabarmati / GTsHd|

)(Bra/hr;l—a;i /@ﬁ

(d) Mahi /A&
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e STEOR AET S fewm W Sed aret T4l @
/ aav&@wu TR, iy e dfeai |t gd
R et ) —

®* Brahmani river 1s an east flowing river.

Subarnarekha, Pennar, Palar, Vaigai etc.

rivers also flow in the east direction.
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Q.15 In the context of rivers and their tributaries which of the following pairs 1s

/ correct?
it 7R Ieh! TRTI Afeal o €ew | Ffoiiad o & hiH-91 I 981 8 2

S.S.C. IS HIdeh T’ (T-1) 6 T

4
(a) Indus — Subansiri/ﬁ?‘g : ‘{l}ﬂﬁ?ﬁ

(b) Krishna — Manjra / SST-HATS{
—

(c) Godavari — Kabini / TeTa-ehTier

%d)/ Alaknanda - m

_—J
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o fUer 1 3Ther 91 hl g 9l 7, STsoh
e et Tl STRITsT et ohl, WisW, Merel] el

(a

I Shrfer 4T, shradY 4t T g 41 2|

®* The Pindar River 1s a tributary of the
Alaknanda River, while the Subansiri River
1s a tributary of the Brahmaputra River, the
Manjara, the Godavari River and the Kabini
River are tributaries of the Kaver1 River.



RUDRA PRAYAG
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==
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Q.16 The dispute over Siachin Glacier is between :
/Qi?»{II(%HTé%IWOh\I TR ToheT GRIT o S TaaTG | 2 ((}\/
S.S.C. 3THATE HIdeh T’ (T-1) 27 201/ qrei)

(2) India and China/sTa 3T ==

(b) India and Afghanistan/HT{d AR
STHITHE

//(c) fndla and Paklstan/@

(d) Indla and Nepal/qXd 3R T

—————————— e




Tajikistan |

o
(GBAO) L
Badakshan) —
Afghanistan (Wakhan, < . <
~
\i\’
)
SE e Qg A
~Tribal
Territ
erricory I STA N

Rilag Baltista
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Q.17 According to the Indian Constitution, who has the power to declare

/ emergency?
/ WA HieTeT oh STER, SATAT el B shid 31 SATEehr el

S.S.C. JHATE HIdeh a0 (T-1) 10

1% ~qTeT)

4

(2) Prime Minister / TETTHT a1

>
( (b)(President/Tl\Z;@
(¢)*Chief Justice/T&T ==l

) N

—

(d) Parliament / @93 %l
-~



TARGET GS- 25/25

* WA HideH & 3TT=se 352 (1) % q8d Afe TSAld hl I8
/i erelT € T F8, STl SAThHv I Here ety =6t i e
fe * Tearfa <t Siwom o HerdT 21 9RT
GioraT o 31-1t29<i 352 H TSI AT, 1T=2% 356 0 TSI
T TYTaehId (TSATd IMEA) 3R |

ATTdRTA T Ieeid T ‘Iﬁ"

e

® Under Article 352(1) of the Constitution of % if 1t

% appears to the President that a situation of war, external

aggression and armed rebellion exists, he can declare a

state of emergency. Article 352 of the Indian Constitution
deals with national emergency, Article 356 deals with

state emergency (President's rule) and Article 360 deals
with economic emergency.
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Q.18 Which of the following animals does NOT find a place in the National
Emblem of India?

ETTRad § © Tohe STHER okl TRA o TSI Tcieh | SITE el T

- R S.S.C. AT HIdeh T (T-1) 7 9

—«b) Bull/¥rg
_ﬁ(c) Horse/ ST

/(d(/ E@

/\




y W%Wmﬁaﬁ{ﬁﬁ) ‘cﬂa qis

3 geft it ufcrepfarat sitehd &

\
@ * The national emblem of Tndia has replicas of
lion (Singh), horse, bull and elephant.
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Q.19 Which of the following is not guaranteed Indian Constitution?
/ ffTRad ® o YR g foreent Tt 72 < 2 <z
S.S.C. AT H1aeh T (T-1) 29 fada) 2016 A1-atet)

(a) Right to Equality / ¥HdT T T<h

(b) Right of Religious Freedom/&TfHeh
TSI

. / . .
(¢) Right to Constitutional Re
T IUT hT BF

edies/

) Right to Fge education fo Eal
T8 h1 &R
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o T HiremrT Tuft ot f3eT 61 gek (31ferepm) ot TR & < =
BT EfTH % %o SITosar oo- HTooe 41 % AT B9
SMAT H 1, ﬁﬂ&ﬂaﬁtwoh Hs|qd|qﬁwaﬁmt3ﬁtm%‘d
45 F et [ STkl o foIq f:37eeh ST e =1 Susly o T R
SIQfIIIOh o3 21Aé€a‘6’a 6 I8 ¥ 14 99 o d=dl & 11Q RIEL

hl J-||I(’1<-'>|'> 3Tf€|°h|{ HC(H ERIRIPI %|

.
* The Indian Constitution does not guarantee the Haq (right) to

education to all. However, some articles of the constitution
such as the right to work, education and public assistance in
certain cases under article 41 and free education for children
in article 45 have been provided. However, under Article
21A, the fundamental right to education has been provided
for children in the age group of 6 to 14 years.
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Q.20 Mahatma Gandhi formed the Natal Indian Congress 1n the year
/WTTH%ﬂﬁ T TeTeT R SHITH Rl T3 TohaT 9|

4%
S.S.C. AT H1dsh Tl (T-1) 10 S gw/vmi

€) 1854
////ﬁ(b 1894
(c) 1863 _

(d) 1874

—_
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n%rmrrr%ﬁﬁm%‘s‘ T 7Tl YR Shilld ol
e TR oM TE TS ST ShhieT o
& / W%Wﬁl@ﬁ@m*mm&usq%

IQ’IK‘IIdCl ERIRIR) T

®* Mahatma Gandhi formed the Natal Indian
Congress in 1894 AD. This organization
should be with the Indians in South Africa.
was formed to fight against discrimination.
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Q.21 Gandhiji's ‘Satyagraha' meant an attachment to the following two elements-

TS o TR 1 HElaIRad | § foheel &l 9 S[SrE § 2 (o
S.S.C. AT HTaeh Tl (T-1) 1 T84 %( qredl)

(a) Knowledge and religion/3T 3T %JTIQ
//b) Truth and non-violence/_‘flff IR 34'%11T

(¢) Truth and chastity/Flv_tﬂ'sQ IR SQRdT

(d) Love of motherlag and hate for

colonial masters/ATqHH 3 Jid @R 3
CIRIECINEX S ERICACI R
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Wm—a'?ﬂwmﬁw ERIGRCIPRIRIEIS]]
3 efeqor 37vh AL CIC R ﬁqﬁéﬁfﬁw

Q>

@L

W@ﬂﬁ?ﬁlﬁ%wﬁ‘q’wlq % T T TTId

EnSIE

;g geelt IR 9amE st ST

‘wmlwﬁaéﬂm‘aww

IERIRIRIEI

®* The basic meaning of 'Satyagraha' 1s
'Insistence’ towards 'truth'. Gandhi used
Satyagraha for the first time in the Transvaal
of South Africa against the passage of laws
discriminating against Asians by the colonial
government. Satyagraha was first used in India
in Champaran (Bihar).
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Q.22 Which of the following was published Gandhiji during his stay in South

/ Africa?

TiefiSit STeT Sfeqor STShienT § o, T 3eh g1 H=ITeTRad H § oRIT YehTiRTd Tk Tram &7 2

S.S.C. AT H1eleh ¥ (T-I) 2 Tdsy, 2016 (11-4Teil)

/ /
(a) Youwr\
—
~ (b@dian Opinion/éf\@jj:%
>
(c¢) Nav Jivan /499 vﬂi{’T/

(d) None of these / STH § i 7ol
—
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Q.23 Which of the following 1s a work on statecraft written by Krishnadevaraya?

/?m"mﬁaw ST T 7 | & - Toeh TTeh i fora-a%g § Eefem & 2

O

S.S.C. TelE CGL (T-1) 16 w@qﬁ)
@7

(a) Karpuraman; ari/?m"‘i'\{'ﬁisl'ﬁ

—_

(b) Kadambari/Teri

/)(c) Amuktamalyada/3T @ﬁ%
(d) Tolkappiyam W

T
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* TR T G i IHHACIS TEdeh TSTehi

c

/ forsr- &g & Geied 2l I8 qeash dop ATST A

foTelt 7% 2 __
—

®* The book Amuktamalyad composed by
Krishnadeva Raya is related to the political
theme. This book 1s written in Telugu

language.




TARGET GS- 25/25

Q.24 Which battle led to the downfall of the Vijayanagar empire?
-8 Ig ¥ SIS AIHTSY 1 qa g7 2
S.S.C. AT HIdeh T (T-1) 8

(a) Battle of Takkolam/ dTeshcdH I
e
%ﬁle of Talikota/dTcdl Oh\ldis\)
(c) Battle of Khanua / 118 I
/’__\
(d) Battle of Panipat/T=dd I5

—




© T
© g 7 1 wﬂ\?né% drrsi 3

Gl:la'ﬁ 1565 é U dielielel % 9 I8
?rr&l?ﬂﬁ Tl dTCAihIeT 98

|o|w4—|u< Oh\l ECIERIESER Q-u EE P ST
3 T TSR HTHTST o1 Yo & T dTehiehiel T % g & LR |o|mq{
%W T (1542-1570 5.) 3T 9T 27| |°h<'| eI anrh
2T | QﬂL TR T ?ﬂw MIGETRIEE ®|st| T3 %
YRETH TITHehI o HET | STei ohl SATE fohaT, fehe Aohet & g

3% Tl T 3

® In the famous Battle of Talikota in January 1565 AD, the combined forces
of the Bahmani kingdoms defeated Vijayanagara. Only Berar was not
included 1n this combined army. The Vijayanagara Empire collapsed after
the Talikota war. At the time of the Battle of Talikota, Vijayanagara was
ruled by Tuluva dynasty ruler Sadasiva Raya (1542-1570 AD). But the real
power was 1n the hands of his minister Ram Rai. Ram Rai was an able ruler.
He tried to create a division among the Muslim rulers of the Bahmani
kingdoms, but did not succeed.
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Q.25 Which of the following was the capital of Pallava dynasty?
/ TR H © Toetd USTasT ehl TSI shia-9T o 2
S.S.C. 3T Fieeadd GD 22 ®adl, 2019 (11-9TedT)

(a) Thanjavur/dsigt

(b) Visakhapatnam/ [SRTRATISTH

) adurai/li@(

—
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®* The capital of the Pallava dynasty was

Kanchi or Kanchipuram. The founder of this
dynasty was Singh Vishnu. The Pallava king
Narasimha Varman 1 built the monolith
temple at Mahabalipuram and Narasimha
Varman II built the Kailasanatha temple at
Kanchi.
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Q.26 The capital of the Mauryan Kingdom was located at :
/nﬁa‘ww\rqoﬁuwﬁw’ﬁ%ﬁ? @\\/
S.S.C. AT ek Tl (T-1) 4 THdeK, 201/11—E|1Fﬁ)

//@) Pataliputra/‘?l'l?.'%lgﬂ

—

-~ D
(b) Vaishali / S=TTef]
— >

(e

(¢) Lumbini/cifsH]

(d) Gaya /a1

—
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® 3 % AU oh! TRTIAT § (W 8 e
YT ohl QIS ShL <ISTH HIY o 61 9
T TATAAT | TIEAT (HTY [k TAT) <STH
(A GiTsy) i Terar off, forges fow o

AT Tt WSt o forear feremor fow &)

®* Chandragupta Maurya established the

Maurya Empire by defeating the last
Nanda ruler Dhanananda with the help of
his Guru Chanakya. Pataliputra (modern
Patna) was the capital of Chandragupta
(Maurya Empire), about which Greek
ambassador Megasthenes has given
detailed descriptions.
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Q.27 The words 'Satyameva Jayate' on the state emblem has been taken from
which Upanishad?
YA o TSI Tefteh T 3fectfad geade s’ vrse forer Sufawe @ fore o 89

S.S.C. SIS CHSL (T-1) 17 |, 2020 (II- TTed)
w (a) Prasna/ 94 (Ef‘.’ﬁqﬁﬁl—q’)
/ (b) Katha/ehd (M

(c) Mundaka/HSh (HShITHTE)
—_—

(d) Kena/sh (hT9(5g)
T~
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®* The words 'Satyamev Jayate' mentioned on

the National Emblem of India are taken from
Mundaka (Mundakopanishad).



